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QUESTION 1

Your customer wants a newly installed AFF C190 cluster to send SNMP notifications to a trap host called
OVERWATCH01. In this scenario, which two statements are correct? (Choose two.) 

A. Configure an SNMP community string on the cluster. 

B. Configure DNS on the cluster. 

C. Configure a trap host on the cluster. 

D. Configure a firewall policy and allow SNMP. 

Correct Answer: BC 

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-nmg%2FGUID-525CBCFB-
E855-4FE6-B975-0AB69F499110.html 

 

QUESTION 2

You need to install a cluster with a FAS2720 HA pair and a FAS8300 HA pair. 

Which NetApp tool will verify which cluster interconnect switches support this configuration? 

A. Active IQ Config Advisor 

B. Interoperability Matrix Tool (IMT) 

C. Hardware Universe (HWU) 

D. mysupport.netapp.com site 

Correct Answer: C 

Reference: https://www.netapp.com/media/12424-tr4036.pdf 

 

QUESTION 3

You are installing a new FAS2750 cluster with 24 HDDs for a customer to run a NAS workload. The customer requests
that the HA pair have only a single aggregate that is located on Node 1. Maximum capacity is required. Which action
must be performed to ensure that the customer\\'s requests are satisfied? 

A. Perform a takeover of Node 2 to ensure that it does not run. 

B. Assign all data LIFs to Node 1. 

C. Assign all the partitioned disks from Node 2 to Node 1, and create a single aggregate. 

D. Assign all the data partitions from Node 2 to Node 1, and create a single aggregate. 

Correct Answer: B 
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QUESTION 4

In an ONTAP 9.7 cluster, which LIF role is used for sending AutoSupport, establishing Network Time Protocol (NTP),
and loading software updates? 

A. cluster management LIF 

B. node management LIF 

C. data LIF 

D. cluster LIF 

Correct Answer: B 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-nmg%2FGUID-
DFFBE8D9-E824-4085-8FA2-24E367288CB8.html 

 

QUESTION 5

You are installing a 4-node AFF A400 cluster and are asked to create a custom security message before and after user
login. Which two security features are used to perform this task? (Choose two.) 

A. EMS 

B. banner 

C. motd 

D. AutoSupport 

Correct Answer: BD 
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